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





1.1:1 ≅ 100° × 70°1:.
.
...
1.1









You Have 12 minutes to answer the questions of the Naked Eye Observations (Question 1 
and Question 2) 
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



 




  
  
  
  
  
  
  
  
  
  
  








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



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

.1irsosaarosioaisoror009a00loal
i.irisarsisosllaioariiirs15aooas.
siaalarisasiisorsoairsosarssoialaolis
aliorasrs.




 
1rraialir 

1rraia3lrai 


.sal3airsiaaarisalaiosarsliraa3lrai
aolal.


 

Polaris 1.95
lais 3.05
i 3.3





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


 
 Alir
 Alderamin




















 


Alderamin 











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










 
 
 
 





Before starting this part, please note: 

The telescope is pointed by the examiner towards Caph (αααα Cas). Please note the readings on the grade 
circles before moving the telescope (to be used in 3.2). 
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







3.2.2.
.

..






 











 








